

Product Change Notification (PCN)

PCN Number

506857

Date Issued

July 04, 2019

Reason for Change

Packaging Method/Quantity Changing

Change Type Description

This letter is to inform you that the part(s) referenced in this notice will undergo packaging specification changes that may include new container sizes, quantities or changes to the label. No changes will be made to the product as a result of this change.

Assessment of Change

Product will be fully qualified before it is shipped. Qualification reports will be available after below listed date

Internal Molex Qualification Date

July 31, 2019

Sample Availability Date (Changed Part)

July 31, 2019

Planned Implementation Date

July 31, 2019

Before Change





No. 1 2 3 4 4 5 6 6 7 8 9 9	Then series 35150-0000 35150-0000 35150-0000 35150-0000 35150-0000 35150-0000 35150-0000 35150-0000 35150-0000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-00000 35150-0000000 35150-000000 35150-000000 35150-000000 35150-0000000 35150-000000000000 35150-0000000000000000000000000000000000	85899082 85899082 85899082 35899082 35809082 55809082	Poly bag Packaging Quantity 1,000 500 500 500	Polybog Quantity 8 8 10 10	Box Quantity 8,000 8,000 5,000 5,000	Box No. 359090081 359090081 359090081	Poly bag Padaging Quantity 1,000 1,000 500	Polybag Quantity 11 11	Box Quantity 11,000 11,000 7,000	16 17	3159-0000 3159-0009	Soc No. 359090002 359090002	Poly bag Packaging Quantity 150 150	Polytog Quantity 13 13	Box Quantity 1,500	50x No. 359050043 359050043	Polybag Padaging Quantity 150 150	Polytog Quantity 14 14	80x Quantity 2,100 2,100
1 2 3 4 5 6 7 8 9 9	35150-0209 35150-0200 35150-0218 35150-0218	35 90 90 062 35 90 90 062 35 90 90 062 35 90 90 062	1,000 500 500 500	n n	000,2 000,2 000,2	359090080 359090080	1,000	11	11,000	17	35150-0609	359090002	150	13	1,500				2,100
2 3 4 5 6 7 8	35150-0200 35150-0209 35150-0215 35150-0215	359090082 359090082 359090082	500 500 500	10	2000	359090081	500			17					14.77	399090001	150	14	
3 4 5 6 7 8 8 9	35150-0208 35150-0218 35150-0218	359090082 359090082	500 500	10	5,000			14	7,000	18			376						
4 5 6 7 8	35150-0208 35150-0218 35150-0218	359090082 359090082	500 500	10	5,000			-			35150-0620	359090082			1,200	399090081	150	10	1,500
5 6 7 8	35150-0218 35150-0219	359090082	500		_	359090081			7,000	19	35150-0629	359090002	150		1.200	359090001	150	11	1,650
5 6 7 8 9	35150-0219			6				14	_	20	X151-0110	359090082	1,000	8	8,000	359090081	1,000	11	11,000
5 7 8 9		359090082	500		4****	359090081	500	8	4,000	21	35151-0119	359090082	1.000	8	8,000	399090081	1.000	11	11,000
9				6	1,000	359090080	500	8	4500	22	35151-0210	359090002	500	10	5,000	359090003	500	14	7,000
9	35150-0300	359090082	250	10	2,500	359090083	250	14	3,500	23	B151-0214	359090082	500	13	5,000	359090081	500	14	7,000
9	35150-0904	359090082	250	10	2,500	359090081	250	54	3,500	24	B151-0219	359090082	500	13	5,000	359690081	500	14	7,000
_	35150-0309	359090082	250	20	2500	359090081	250	14	3,500	zs	35151-3219	359090082	300	10	3,000	359090081	300	20	6,000
10	35150-0310	359090082	250		2000	559090081	250	10	2500	26	35151-0100	359090002	250	10	2,500	359090003	250	14	3,500
11	35150-0319	359090082	250		2000	359090081	250	10	2500	27	K151-0319	359090002	250	13	2,500	359090081	250	14	3,500
-				_						28	35151-0410	359090082	250	8	2.000	359090081	250	12	3,000
12	35150-0400	359090082	250	8	2,000	359090080	250	10	2,500	29	35151-0419	359090002	250	1	2,000	359090003	250	12	3,000
13	35150-0409	359090082	250	8	2,000	359090081	250	12	3,000	30	35151-0620	359090082	150	10	1,500	359090081	150	12	2,100
14	35150-0410	359090082	150	10	1,500	359090081	150	15	2,250	33	35151-0619	359090082	150	10	1.500	359090001	150	14	2.100
15	20120 (MIS	559090082	150	20	1,500	359090083	150	54	2,100	32	68405-0304	359090082	200	10	2,000	359090081	200	14	2,800

After Change



Change box packing specification From 35909-0082 to 35909-0081

- Product Impact
- 1. Change to : 35150 series. 35151 series. 68416 Natural, PBT / GW. Total 15 Items
- Complete product drop-test for representative series of changed items
- 3. As the box size change, the quantity of packaging will increase and the MLQ will change
- 1. There is no change in part number



Implementation date may be changed due to customer demand and production condition



Product Change Notification (PCN)

You may address any technical inquiries regarding this PCN by sending E-mail to pcn_coordinator@molex.com or your Local Sales Engineer.

Note: While responding, please retain "PCN Notification:506857" in the e-mail Subject line for faster response.

RELEASED

Molex, LLC 2222 Wellington Court Lisle, IL 60532 TEL: 630-969-4747 www.molex.com

PCN #	Molex Part #
506857	351500200
506857	351500209
506857	351500214
506857	351500310
506857	351500319
506857	351500600
506857	351500610
506857	351500614
506857	351500614
506857	351510210
506857	351510419
506857	351510614

35150-0204

35150-0210

35151-0214